

Name:

ID #:

Serial #:

1. Prove that there are no odd integers a, b such that $4 \mid (3a^2 - b^2)$.

Solution. Suppose on the contrary that there are odd integers $a = 2h + 1, b = 2k + 1$ such that $4 \mid (3a^2 - b^2)$.

We have

$$\begin{aligned} 3a^2 - b^2 &= 4a^2 - (a^2 + b^2) \\ &= 4a^2 - (4h^2 + 4h + 1 + 4k^2 + 4k + 1) \\ &= 4(a^2 - h^2 - h - k^2 - k) - 2 \end{aligned}$$

Since $4 \mid (3a^2 - b^2)$ and $4 \mid 4(a^2 - h^2 - h - k^2 - k)$ ($\because a^2 - h^2 - h - k^2 - k \in \mathbb{Z}$) we obtain $4 \mid 2$, which is impossible. This contradiction shows that there are no odd integers a, b such that $4 \mid (3a^2 - b^2)$. ■

2. Prove by induction that $1^3 + 2^3 + \dots + n^3 = \left(\frac{n(n+1)}{2}\right)^2$ for every positive integer n .

Solution. Let $P(n)$ be the statement to be proved.

$P(1)$ is clearly true ($\because 1^3 = \left(\frac{1 \times (1+1)}{2}\right)^2$).

Assume that $P(k)$ is true for a positive integer k .

Then $1^3 + 2^3 + \dots + k^3 + (k+1)^3 = \left(\frac{k(k+1)}{2}\right)^2 + (k+1)^3 = (k+1)^2 \left(\frac{k^2}{4} + k + 1\right) = \left(\frac{(k+1)(k+2)}{2}\right)^2$,

hence $P(k+1)$ is true.

By the induction principle, $P(n)$ is true for every positive integer n . ■